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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

_é,%ﬁ]d{,ﬁfz,ﬁl—_ A1

1.1, is a graphical representation of an algorithm.
() Matrix o6 ®  GaphJ”  (C)  Flowchart L (D) Solution

2. Which symbol in the flowchart is used to either start or end the flowchart? ?5;43%@{"“ rf?r’wu&TuU&Juf‘_/ﬁ.wgﬁ 2
{A) Terminal J=/ (B)  Connector /‘-C}( (C) Process J~'§4 A ) Decision (il.le

3. Expression (A+B).(A+C) is equal to: f\‘ I§>)<\'4(A+B).(A+C)u§/:(‘-(‘ 3

N L
) A+B.C) B  AB+AC TN ABO) % (% A*E&C)
Pl ) \

/ : 3 e
4. One (1) megabyte is equal to: ( { \\ !j' L Ry LA U
R — ,,..,._.wx. e -
(A) 1024 T8 @®) 1024681\ (€) 1024 MB™. \.AB) 1024 KB
/‘\ .
(‘; N ‘N"m.m_mw,w o »
5. URL stands for: P Y 70 = ‘e FURL 5

;/ “\\ / s‘a\
/ kY 3
(A) Unique resource locator (B) %%Nsourc@kg\cator (C) Uni\grsal rés%rchlﬁ;g;étory ) Universal resource locator
\ %, N ‘“'/,
M o "
T gl Galutipv 6

6. In IPv4, there arefour groups separated by; \\ !
/ 5 \ ‘\\ \

N

/ A ™
AR LN N2 o
£ \\ /,.-
7. typically involves, downloé\lig*ng illegal software. // g i JEL s ﬁ;dlz(}i(i’,ﬂfuf___ 7
\\\. ]
(A) Counterfeiting S Uf? N\ N\ _» (B) Hard disk loading£ 35" 4,4
s “ d 2

{C) Online piracy&/’gcfuul ) ~ (D) Client-server over use Jg.mbyulf

8. ___are the secrets that are playing an important role for the sucess of a company. -qﬁ,uu/ugug@_w& Lﬁf J;?J!wa/g .8

(R)  Copyright law ¥ (B) Trade secret JL,0,i (C) Confidentiality & privacy iy shS,ioits (D) Patentcis
cetndd St b 9

9. ____tag marks starting of the paragraph.
A) <h> (B) <P> (C) <U>» (D). <i>

10. HTML uses tag to underiine text e O g Lo B8 WML 10

A) <h> (B) <U> (€) <i> (D) <a>

/[)\/ 249-09-A




[Ron No. e /P! |  SSC.(Part-)/A-2024
Computer Science (suvjective) ~ (For All Sessions) i) U'"V ,.f
Marks: 40 (Group-l) Time: 1:45 hours
Section-| RWP—1-3 50

2. Write short answers of any four parts of the following: [4x2=8] _2.‘;"//’:4 leﬁ"‘é:fl‘i.blga(jfaufdnj@; .2

i. Define invalid test data. % ?.;_.)ygfctz;‘.w‘wm i
ii. Write two advantages of flow chart. -‘/”/"//fu’l);)L&w‘lpﬁ i
iii. Write any two strategies name for planning a solution. -u:/C/ /”(tziuy}“c,ﬁ:u’ sz{;f d/:c,,ﬂ”‘ JJ’ il
. Why trace table is used? Se b UURIU LA i
v. How many types of tags are used in HTML? /VD_RZ_bc; Jlav"’l..fﬁ,} Lf( JeHTML v
vi. Write the output of following code: <HTML> %, SN S SR

< body > if\ \\
< HI > Hello 8th Class < /HI 2 \
<oy > | \\ \‘/\}
P/ /‘ THTML 1 P <
3. Write short answers of any four parts of the follé'wmb\ [4x2‘\§] f‘ -c"‘:/}(w;/:! c.g;uid s 3
i. Define the hexadecimal system. \\ gt e, “\\ \,,/ g ’;J(lb’)d’ﬁ'ﬂ;' .
ii. Write two examples of secor}da}y memory. ..., — \\g ~jL.J“/./f”uf~J¢‘»J Sl o1 i
iii. Convert (158)4qinto binary n/umber‘éystem // \x( \\E /’i ~§§J~4}Uﬁ(|k‘33¢f(156)10 Jii
iv. Write down Associative lkﬁ\ \\‘ i‘\ \\ / 4,/ i v -é//})wis R\
v. Explain copyf?;ht law \\ N b \_M::// AP B A8 v
N N \\ ) e :
vi. Explain t?e s‘gft |lﬂ|ﬂ% - -éyu,‘!ﬂav Vi
4, Write shéﬁ/ns%\rs of a\;?y.\ {our parts of the\f:}}owmg {4/ -af_f_/f.:,glz/?&ﬂzugc,éfcw J.,’JZW) 4
i. Explain the apphcat\sharmg N 4/)// RSN Gy R
i. Determine the two advant‘éReS of star\topology -“é()m’l},)é&:'g/l# i
. Define the router. LY w5 i
iv. Write the names of TCP/IP Iaye/e// -q/;ﬁ:tLJﬂJTCP/IP Jdv
v. State the purpose of definition list. _q/ug,wf*(wu’-"d‘ EEAY
vi. What is meant by colspan? ‘.‘c"_;l/l[c_cjj‘aUK Vi
Section-i (232
Write answers of any two questions from the following:  [8x2=16] 2L/ A=z Udvme (i bt itn
5. Suppose a problem has multipte algorithms, how should you choose the iﬁz’./f/&’fgf}’uxﬁﬁup;uﬂﬁgjf .5
most efficient algorithm to solve a problem? (8) ?Zu/&f .,t'}'l(,f;fﬁcg Folie cre Ji

6. Describe Bus and Ring topology. ) & ugc.Md)gwé #sJ 8
7. Describe the importance of encryption for every day life on the internet. (8) .;;{uy.w!g(d;@{ ..‘.:,/'/‘-'lu.‘ffx)o/)u T
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

1.1. Which solutions are not reached through proper algorithms planning? "blalﬂui/cju,zflwvfd’f A4
(A) Prepared solution S22 (B) Candid solution S (C) Strategized solutioqd’@{;ypﬁ (D) Best solution S #*
2. Ina____error, the solution is working but not giving required resuilts. _bnp;.uif;,,lz@m)‘/%tn‘,/gﬂz;mc_guffk J(} o W

(A}  Random error J{'(:Q:J ®B) Logical error ;”/U?-U (C) .. Syntax error ;{i(f@ “'(D)‘ Runtime error /_/!(’Buj

3. Hexadecimal system has total ___ number. | | 4 -ugi_ﬂ/ uﬁt}‘-)"jl}f" 3
@ 17 ® ® . © ® . @
4. One (1) petabyte isequalto ___. - o ,c‘,/,u.zi__\:/gt},ug 4

@) 2t (10249 byte B “Lry (1024Fbyte  (€) e (1025)5_‘_5.yte (D) L (1024 byte

¥

5. The IPV4 address is made up of ____ binary bits:. P - e 172 S ) s L
) 3 @) 9 @€ 0 % 0) 30

6. DHCP stands for: y - —c. ¥ ___DHCP .6
(A) Data hosting computer protocol : \ {B) Dynamic host computer protocol.
(C) Dynamic host configuration protdcq‘l. ) ‘ (D) Data host configuration protocol

7. Whichis NOT atype of piracy? ™.~ e BASEAE T

(A) Softliing —\e3L  (B) Liability (>3 (C) Cllent server over use Jyminpei (D) Online piracy (& A AT

8. Which of the following is NOT cyber crime? e plAolidits B
(A) Hacking F&s (B) Phising ciime #L/_E% (C)  Identiy theft (7=t (D) Decryptione/44 3
9. An individual list item which can contain another entire list is called: :ggwﬁc‘_ﬁtfj&mu@ﬂz{lﬂd@ 9

(A) Ordered list wbls"?  (B) Unordered list wJsoe (C) Nestedlist e % (D) Definition liste o ai
10. HTMLis not ____ language. e G HTML 10

(A)  Programming L1y B)  Markup SIOL (C)  Hypertext 2.B2, (D) BothB&C UsCasiB
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2. Write short answers of any four parts of the following: [4x2=8] -afi}/"aguzf'?é,'z lx,l'vc_éf.;.u.‘l szw .2
i. Explain Act it out in planning a solution. -g"fz/wl})d/h‘.«ﬂ.‘,! Y !utd/.'afr"'" JJ’ i.
ii. Write two steps of problem solvinjg. ‘é{ f':tégﬂ/::dw e &S i
iii. What is meant by identification and correction of errors? ?%'3Lfl;(c.,g"f/)/5iu7ﬁ t"JJL i i
iv. How can we select the best solution? Y'?ujz.ﬂ_/c_{ S A v
v. Write the use of font tag'. ’ -gf /‘UWIKHG "Font" SRV
vi. Write the purpose of < a > < /a >. , _éxfw‘(< a></a>vi
3. Write short answers of any four parts of the following:  [4x2=8] .. -ef//.., u;/’z:,uu baé:(:.uﬁd)bu :
i. Define binary number system | . . _Z’:J/’J(wdmdl/ i
ii. Convert (156),,into binary. 2 : ‘ ) _éjiwrwauf (156) 1 .ii
iii. Differentiate between memory and storage. S, o 1 I OPSC IS i
iv. Draw the truth table for "P AND Q"% - | e A2 P AND Q" iv
v. What do you mean by sabotage?i L iy 4 e ) v
vi. Describe the cy;ﬁﬁer text. 1 | | -q/ug,&y{fﬁu Vi
4. Write short an§Wers"of any f&ur parts of the folloMngz 5 t;tx2=8] -g{;fagmﬁéflzugaéfcwdjbu

i. Define router s , I YA
ii. What is network of networks? E %, e - ?U.?%"—Kéhﬁ’-‘f." SN
i. Explain SMTP. o los S SMTP i
iv. How is routing done in intemet? &;,J(g«fd:_ﬁﬁb{ef,,f'j-’l A
v. Write output of the following: < p > This is < br > a paragraph < /p > -¢/} fq,_‘,STd/‘J_‘jz-ﬂ: v
vi. Explain that HTML is not case sensitive. _‘aw‘?‘"fuéHTML{g/&L‘n kY

Section-ll (9357
Write answers of any two questions from the following:  [8x2=16] &A= 2L Ulyme e S 5t

5. How do you determine requirement of a flow chart? (8) mzvi(gffgaﬁ&wg,ﬁ:f 77

6. Describe Star and Mesh Topology. (8) -(}:/ukl((ﬁ)y(j):/}’lu‘ "
7. What is cyber crime? Explain its any three types. ~ (2+2+2+2) el Uk S et PA
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